
59

38

50

52

42

56

4

20

6

12

34

36

17

23

15

33

21

13

2

16

46
54

9

53

57

58

22

8

10

60

18

40

25

21

13

15

14

13

15

15

13 15

56

21

23

23 21

34

59

59

59

22

44

27

5

61

ТЕРМОСТАТ ПОГРУЖНОЙ APACH ASV WI-FOOD



2 CARCASSA ALLUMINIO WIFOOD GM2486430

4 MOTOR SOFTCOOKER Y09 GM5036100

5 SPINA ELASTICA DIN 1481  1,5X8 IX21481001.5008

6 HEATING ELEMENT 2000W_SOFTCOOKER 09 GM5256600

8 PCB SOFTCOOKER WIFOOD GM5946340

9 FALSO FONDO WIFOOD GM2483375

10 DISPLAY WIFOOD GM2492100

12 SAFETY PROBE 10K FOR SOFTCOOKER 09 GM5826150

13 HEX.NUT DIN 934 M 6 IX2934006

14 THERMOSTAT PROBE FOR SOFTCOOKER 09 GM5826100

15 PAN HEAD SCREW DIN 7985 M5X10 IX27985005010

16 CESTELLO ALLUMINIO WIFOOD GM3047300

17 WASHER DIN 125 D 5 IX2125005

18 MOTOR FAN _ SOFTCOOKER Y09 GM5036850

20 SPOKED IMPELLER SOFTCOOKER 09 GM5036870

21 HEX.SCREW DIN 933 M 3X06 IX2933003006

22 PROFILO TAGLIO TERMICO WIFOOD GM4253670

23 RONDELLA DENTEL. DIN 6798-A D  3E IX26798A003

25 BUSH _ SOFTCOOKER Y09 GM2486170

27 VITE SENZA TESTA DIN914 M3X4   P.CN IX2914003004

33 VITE TCEI DIN 912 M 3X40 IX2912003040

34 FUSE HOLDER 15A 250V_SOFTCOOKER 09 GM5846050

36 FUSE 6,3X32 16A _ SOFTCOOKER Y09 GM5846055

38 ON/OFF SWITCH COMELUX 401/L 19410102

40 LOWER FAN, SOFT COOKER GM5036875

42 WATER LEVEL SENSOR GM2210200

44 DISTANZIALE ACCIAIO LIVELLOSTATO GM4296275

46 BUSSOLA TIRANTE FISSAGGIO WIFOOD GM2023195

50 TIE ROD KNOB M8 19562504

52 BUFFER D8,5XHT3,2 _ MIRRA 300 19563232

53 PIASTRA SUPPORTO MOTORE WIFOOD GM5826050

54 TIE ROD WIFOOD GM2023190

56 BRASS SPACER MM 8X16 _ SOFTCOOKER GM4296235

57+58 GR PAIR OF GREY ABS SIDES WI-FOOD GM2492280

57+58 NR PAIR OF BLACK ABS SIDES WI-FOOD GM2492260

59 VITE AUTOF.TSP+ DIN 7982 D 3,9X19 IX279823.9019

60 CAVO 3X1,5 SCHUKO 3MT+GOMMINO GM5506360

61 PRESSACAVO 1546.11.10 PG11 NERI GM5893090


